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4 Note : \’ A
1. - Part ‘A’ may be attempted in first 6
pages of Answer Sheet.
qm ‘s’ B |t IW, SW-YfEeE ® qed
: gl A & FH 2

2 Part ‘B’in rest of the Sheets of Answer
[ Sheet.

Rasatkngineer

Hipdi.
‘ e o IR ST ige feal | el »
. .
Part—(A)
qrT—( & )

/ttem ptany 10 questions: 10%x2=20
for=1 @ WAl @ I gl —
(i) nvert 11000100 binary number into

—" hexadecimal number. .
KA 11000100 SR T 1 saedHe &

o uftafda wifed|
G—310 . (RTO)
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(3) 2K7-CS-01
(xi1)) TTLstandsfor..........

(xii1) Write logic symbol of XINOR.
XNOR =1 wifsie fame Sifsd
",L;\Mrite base of Hexadecimal number.
TRdmE T w1 4w (3MuR) fafEd
(xy¥ What are universal gates ?
gfrade em = 22
Attemptany Squestions: Sx4=20
o=t ater wvel & S -
~()}- / What is ALE ? What is ro.l'e of ALE in
BatEngineer
el

T 2?

«ii).-‘Stateand prove Demorgan’s Theorem.
' feiem =i =1 v SRR 9 = fag
Fifs)
(iii) Develop an assembly language problem
foradding two 8-bits numberin 8085.

Sossﬂz\s-ﬁ{amﬂfa&ﬁnﬁg
TR AT Sy s Fim)

(iv) Enlisthardware interrupts of 808S5.
8085 ®EEdm TTew =1 = T
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2K7-CS-01 (4)
(v) Add 10001 and 10100 using 2’s

~~  compliment.

2 % Y& F IWT W@ gu 10001 Fqen
10100 =140 =i '

(vi) Whatisserialin serial outshiftregister ?

HifEs e e W o difae s

)}r@ Realize NAND gate using NOR gate.
NOR 2 % 398 ¥ NAND = we
EAEEL

Write_ different addressing modes of
8085.

8085 = fafiy= wstfa drs fafadl

PagasERiinees

AUy &
diagram of microprocessor.
i =k H1 IR SIS Gl HSShINEET
1 2R o FEa| |
Construct the RS flip flop using NAND
gates and explain its working with its
truth table.
NAND 728 & 3ygm & RS frw W™
T qoT TY d9d & WY THH! HE gUmCl
1 fordrern o)

—
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2K7-CS-01 (2)

(1l Whatisanencoder?

(iii) Whatare subroutines ?
_ 7 7?2
(ivY Wahtis ASCIIcode ?
XM ascrr =7

y/'What iscommutative law ?
: Frgefea g == 22

(vi) Represent 10010 binary number into gray
code.

d—h 10010 =9t d=n # | FE ¥ =

gineer

PWDeﬁnel c
_ _RIM. = 9of T2 0.

SIOr.........

NOR 7z %1 29 Z5a fafed)
(é) 8085 microprocessor has .............. bit
[ < data bus.
8085 AEFHIGRT A .............. FAZTH R
(xi) What numbers of flip flops are used in
mod 5 counter ?
g 5 W= H foha+ o9 9irg =1 394
fopan siraT 22

—_— B sy ) ¢
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(5) 2K7-CS-01 E

5. s/ Simplify the function F:f.’w
h y =S m(2, 5 7,8,9,11,14)+d(], 4) 5,.,

using K-map.
K ~rq = I9En | HIeE—
Yy =xm(2,5 778,911, 14)+d(l, 4)

T il
6. Explain the architecture of 8085 with
block diagram.
=itw fa =& @Y 8085 =+ InfEdw=x =t
Taa=mn i
7. Write ashort note onthe following :
fr=fafaa w diara feaoit fafea—
(1) ADA
Pagx|Engi
PagalEngineer
(iv) PSW
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